Have a go at the EXT questions. They are similar questions, the pages get harder as you go
on. You do not need to complete them all. The third page is the most challenging set of

questions.

Multiply 2 Digits by 1 Digit 1

Multiply 2 Digits by 1 Digit 1

1a. Rehan and Destiny have solved the
following multiplications.

1b. Fatima and Dan have solved the
following multiplications.

What is Jana’s number?
Explain how you know.

W

TO TO TO
32 2 1 P 2 2
X 2 X 2 - X 2 Xx
e 54 4 2 — 4 4
Rehan Destiny | Fatima Dan
T o T O T (o) T o
000 00 o0 O o0 | 00 o0 | 000
000 600 o0 O o0 | 00 o0 | 000
Are they both correct? Are they both correct?
ﬁ Explain how you know. i ﬁ? Explain how you know. )
2a. Jana is thinking of a number. 2b. Jakub is thinking of a number.
I multiplied a m I multiplied a
> & number by 2. The - number by 5. The
o
- answer was 24, - answer was 55.
A N
R o
0 4 6 8 10 12 14 16 18 20 22 24| 0 5 10 15 20 25 30 35 40 45 50 55 40

What is Jakub’s number?
Explain how you know.

)¢ :

3a. Create and solve a calculation using

the digit cards below.
I o o0 060
; ©0 000
X o0 060
9 o0 060
L2)EE) oo oo

PS

3b. Create and solve a calculation using

PS

the digit cards below.
I o 000 006000
4 ©00 0000
X 000 00600600
8 000 00600600
] 000 9000600
L [8)2)3]




Multiply 2 Digits by 1 Digit 1

Multiply 2 Digits by 1 Digit 1

4a. Brody and Rose have solved the
following multiplications.

TO TO
- 33 3 2
) x 3 x 3
L 99 95
Brody Rose

Are they correct?
Explain how you know, using a place
value grid to show your working.

W

4b. lan and Ellie have solved the following
multiplications.

N -
— ]
(o =0

2 Kl
-’

o NO

(o -]
—

Ellie

lan

Are they correct?
Explain how you know, using a place
value grid to show your working.

W

5a. Blake is thinking of a number.

-

£

| multiplied a
number by 8. The
answer was 88.

What is Blake’s number?
Explain how you know.

W

5b. Brooke is thinking of a number.

=

What is Brooke's number?
Explain how you know.

W

| multiplied a
number by 4. The
answer was 48.

éa. Create and solve a calculation using

the digit cards below.
T O
2
X
8

84

PS

éb. Create and solve a calculation using

the digit cards below.
T O
2
X
4




Multiply 2 Digits by 1 Digit 1

Multiply 2 Digits by 1 Digit 1

7a. Sara and Riley have multiplied the
same number by different amounts.

FT
?2? 7?7295 5
X 2 x 3 -
d 4 6 6 9 A
Sara Riley

What was their number?
Explain how you know, using a place
value grid to show your working.

7b. Rehan and Anna have multiplied the
same number by different amounts.

To ro fam

? 2 22 [

X 4 x 3 4’-‘\
Pr A 8 4 6 3

Anna

Rehan

What was their number?
Explain how you know, using a place
value grid to show your working.

8a. Ben is thinking of a number.

| multiplied a
. number by 4. |
A then subfracted 5.
The answer was
83.

What is Ben's number?
Explain how you know.

8b. Fatima is thinking of a number.

| multiplied a
number by 3. |
than added 10
and the answer

was 73.

What is Fatima’s number?
Explain how you know.

9a. Create and solve a calculation using
all the digit cards below.

T O

9b. Create and solve a calculation using
all the digit cards below.

T O




